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R e | BT e | B2 | e | o e | B2 | B TR e | B2 | TR | & | e
’ 100kN/mM%BZ 5 1.00{0.00 ~ 0.23 103.38| 3m%*x % % = ~ = = —| 100kN/m%#8% % 1.00| 10.57 ~ 11.18 103.38| 3m%x#E % % -~ = = =
Fhst 1.00/0.23 ~ 8.01 100.00f Zxlust 000 ~ 801 224 11.96 ZFhLst 1.00] 5.00 ~ 10.57 100.00f Zhlust | 500 ~ 11.18] 2.24 11.96
9 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 6.65 84.00| #h L4t |0.00 ~ 0.00] 1.59 8.52 st 1.00] 500 ~ 8.74 84.00| Znklst | 500 ~ 874 1.59 8.52
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 6.42 80.85| L4t |0.00 ~ 642| 1.86 9.97 st 1.00] 500 ~ 7.80 80.85| #nklst | 500 ~ 7.80| 1.86 9.97
5 100kN/ Mm% 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 6.92 87.66] hList |0.00 ~ 0.00| 1.62 8.67 st 1.00] 5.00 ~ 9.08 87.66] ZnLlst | 500 ~ 908 1.62 8.67
6 100kN/ Mm% 5 -l -~ = -|3mZEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mZiBZ % -~ = = =
Fhst 1.00/0.00 ~ 755 96.57| hLlst |0.00 ~ 7.55| 2.13 11.38 ZFhLst 1.00] 5.00 ~ 10.00 96.57| Thl4 | 500 ~ 10.00| 2.13 11.38
; 100kN/m%# 2 % 1.00/0.00 ~ 1.90 129.34|3m%EBZB| - ~ = - —| 100kN/MZ#% % 1.00| 10.91 ~ 19.51 129.34| 3m%E#BZ % -~ = = =
ZFhst 1.00/1.90 ~ 9.69 100.00f Zxlust 000 ~ 969 2.24 11.99 FhLst 1.00] 5.00 ~ 10.91 100.00f Zhlust | 500 ~ 19.51| 224 11.99
: 100kN/ Mm% 2 % 1.00/0.00 ~ 1.24 118.78| 3m%EBZz 5| - ~ = - —| 100kN/MZ#% % 1.00| 12.54 ~ 20.04 118.78| 3m%E#BZ % -~ = = =
Fhst 1.00/1.24 ~ 9.03 100.00f Zxlust 000 ~ 9.03| 240 12.84 st 1.00] 5.00 ~ 1254 100.00f Zhkust | 500 ~ 20.04| 2.40 12.84
100kN/ Mm% % ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
Zhst ~ ZFhLst ~ ZFhLst ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ ZFhLst ~ st ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEEAD ~ 100kN/m%#B% % ~ IMERBZD ~
ZFhst ~ st ~ FhLst ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
Zhst ~ st ~ ZFhLst ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
Fhst ~ st ~ st ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImEBZD ~
Fhst ~ st ~ st ~ ZFhLst ~ |
=EFR



